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⊕ ⊗
With appropriate definitions of addition and scalar multiplication,

n⊕
i=1

Vi
∼= {v1 × · · · × vn : vi ∈ Vi}

n⊗
i=1

Vi
∼= span{v1 × · · · × vn : vi ∈ Vi}

Vectors written as v1 + · · ·+ vn (internal)
or (v1, . . . , vn) (external)
or v1 ⊕ · · · ⊕ vn (either)

where vi ∈ Vi.

Vectors written as a(v1 ⊗ . . .⊗ vn)
+ b(w1 ⊗ . . .⊗ wn)
+ · · ·

where a, b, . . . ∈ F, vi, wi, . . . ∈ Vi.

(v1 ⊕ v2) + (w1 ⊕w2) = (v1 +w1)⊕ (v2 +w2) (v1 ⊗ v2) + (w1 ⊗ v2) = (v1 + w1)⊗ v2, and
(v1 ⊗ v2) + (v1 ⊗ w2) = v1 ⊗ (v2 + w2),
but (v1 ⊗ v2) + (w1 ⊗ w2) sometimes cannot
be simplified further

a(v1 ⊕ v2) = (av1 ⊕ av2) a(v1 ⊗ v2) = (av1)⊗ v2 = v1 ⊗ (av2)

Basis for
n⊕

i=1

Vi:

{v1 ⊕ 0⊕ · · · ⊕ 0 : v1 ∈ γ1}
∪ {0⊕ v2 ⊕ 0 · · · ⊕ 0 : v2 ∈ γ2}
∪ · · ·
∪ {0⊕ · · · ⊕ 0⊕ vn : vn ∈ γn}

where γi is a basis for Vi.

Basis for
n⊗

i=1

Vi:

γ1 ⊗ · · · ⊗ γn = {v1 ⊗ · · · ⊗ vn : vi ∈ γi}

where γi is a basis for Vi.

dim

(
n⊕

i=1

Vi

)
=

n∑
i=1

dim(Vi) dim

(
n⊗

i=1

Vi

)
=

n∏
i=1

dim(Vi)

Let T1 ∈ L(V1,W1),T2 ∈ L(V2,W2).

T1 ⊕ T2 ∈ L(V1 ⊕ V2,W1 ⊕W2) with
(T1 ⊕ T2)(v1 ⊕ v2) = T1(v1)⊕ T2(v2)

T1 ⊗ T2 ∈ L(V1 ⊗ V2,W1 ⊗W2) with
(T1 ⊗ T2)(v1 ⊗ v2) = T1(v1)⊗ T2(v2)

Let A ∈ Mm×n(F), B ∈ Mk,`(F).

A⊕B =
(
A 0
0 B

)
∈ Mm+k,n+`(F)

A⊗B =


a11B a12B · · · a1nB
a21B a22B · · · a2nB

...
...

. . .
...

am1B am2B · · · amnB


∈ Mmk×n`(F)


